17146027.istQa

Wed May 25 08:15:47 2016



Number of Raw Hits

ADC of Raw Hits

Entries 123984 IEntries 123984|

I The number of RawHits vs. sensor ID I I The number of hits vs. sensor ID I

12
120 T120
©
100 2100
IS
>
pd
80 80
60 60
40 40
20 20
0 1 0
20 40 60 80 100 120 140 20 40 60 80 100 120 140
Sensor ID Sensor ID

Entries 25385 IEntries 25385 |
3 ADC of raw hits at time bin 0 vs. channel geometry ID 3 ADC of raw hits at time bin 1 vs. channel geometry ID
x10 I—I x10 I—I

ADC of Raw Hits

; : i

20 40 60 80 100

Channel ID Channel ID
Page 2



ADC of Raw Hits

ADC of Raw Hits

Entries 25385

><103

ADC of raw hits at time bin 2 vs. channel geometry ID

3.5

2.5

15

0.5

80 100
Channel ID

Entries 25385

X
[N
o

1

3 I ADC of raw hits at time bin 4 vs. channel geometry ID I

Lo x10

)
o
N
o

.
80 100
Channel ID

ADC of Raw Hits

IEntries 25385 l

><1O3

ADC of raw hits at time bin 3 vs. channel geometry ID

80 100

Channel ID

IEmries 25385 |

X
=
o

3.5

ADC of Raw Hits

2.5

15

0.5

N
LA R R ERARRN LAREN RAREE REREE LEREE ILEEEE ILELE

i

3 I ADC of raw hits at time bin 5 vs. channel geometry ID I

x10

(@)
N
nl
INE
o

Page 3

M
80 100

Channel ID



ADC of Raw Hits

ADC of Raw Hits

3.5

2.5

15

0.5

3 ADC of raw hits at time bin 6 vs. channel geometry ID

11X
[N
1.

3.5

2.5

15

0.5

20 40 60 80 100
Channel ID

3 ADC of raw hits at time bin 8 vs. channel geometry ID
x10 I—I

1

20 40 60 80 100
Channel ID

x10

x10

Entries 25385 IEntries 25385|

3 ADC of raw hits at time bin 7 vs. channel geometry ID

N
T x
'—\
j.

3.5

ADC of Raw Hits

2.5

15

0.5

N
LA R RN RAREN RAREE LEREE LEEEE RLEEEN ILALLE ILELEI

x10

20 40 60 80 100
Channel ID

o

Entries 25385 IEmries 25385|

I RMS noise of raw hits vs. channel geometry ID I

RMS noise of Raw Hits

20 40 60 80 100
Channel ID




ADC of Hits

Max Time Bin Index

IEntries 21709 l

ADC of hits vs. sensor ID

><103

20 40 60 80 100 120 140

Sensor ID

IEntries 25385 |

I Max time bin of raw hits vs group ID I

107

10

10 20 30
Group ID [12*(RDO-1)+2*ARM+GROUP]

RMS noise of Hits

Max Time Bin Index

IEntries 21709 l

I RMS noise of hits vs. sensor ID l

20 40 60 80 100 120 140

Sensor ID

IEntries 25385 |

I Max time bin of raw hits vs APV ID I

10?

4

|

2 i

|H ‘\‘ | 'W W AII M M

o 100 200 300 400 500 600 700 800
APV ID [144*(RDO-1)+24*ARM+APV]

1

Page 5



Max Time Bin Index

Cluster Size in Z of Hits

IEntries 21709 l

IMax time bin of hits vs. sensor ID|

10

10

20 40 60 80 100 120 140
Sensor ID

IEntries 21709 |

ICIuster size in Z of hits vs. sensor IDI

Sensor ID

IEntries 21709 l

I Cluster size of hits vs. sensor ID l

20

Cluster Size of Hits

20 40 60 80 100 120 140
Sensor ID

IEmries 21709 |
I Cluster size in r-@of hits vs. sensor ID I
20
18 I

16 -

14
12
10

Cluster Size in r-@of hits

o N H O [ee)
T

20 40 60 80 100 120 140

Sensor ID
Page 6



Columnin Z

Global Y [cm]

7opyl

Entries 21709

| IST hit map in r-phi vs. Z |

i
oof ﬂ&l i n;ﬂ .
, )W)

i

i
W
g

50,

40[,

20

10"1

W
SOpm ol
({. wh ’mﬁ

)

| Global X vs. Global Y |

Entries 21709

Ladder ID

[Entries 21700 ]

IST hit map in APV geometry Id vs. ladder

10 15 20 25 30 35
APV geometry ID

IEntries 21709 |

Global @vs. Global Z

Global Z [cm]

Global ¢[rad.]



Row

<rawhits>

Entries
I Raw Hit column vs. row: Ladder 1 Sensor 1 I
60
[ 1
50
40
30
20
10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 1 Sensor ll
10F
1k
LLb |

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

107t

1072

159

861

Entries 126
IHit mean column vs. mean row: Ladder 1 Sensor 1I
2 I
x 60
% 3
0} [ 1
= 50
40
[ 107
30
20F
[ -2
10 10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 229
Raw Hit column vs. row: Ladder 1 Sensor 2
3
@ 60
1
50
40
10™
30
20
-2
10 10
2 4 6 8 10 12
Column

Page 8



Mean Row

Row

Entries

180

IHit mean column vs. mean row: Ladder 1 Sensor 2I

1
107
107
|
M PR R I A BN BRI R
2 4 6 8 10 12
Mean Column
Entries 201
I Raw Hit column vs. row: Ladder 1 Sensor 3 I
1
107!
107

2 4 6 8 10 12
Column

<rawhits>

Mean Row

60

50

40

30

20

10

Entries 861
INumber of raw hits vs. EventID: Ladder 1 Sensor 2I
1 -:
1 7
1l ]
Il i
| -
3
| | x10
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 173
IHit mean column vs. mean row: Ladder 1 Sensor 3I

B —
- o —
- 1
= —
b — |
=~ . —
: — —_—
- 107
[ —
: —
5 —
n 1072
B —

2 4 6 8 10 12
Mean Column



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 1 Sensor 3I

I bl Rl R R RAAA RRbb] RLAb R RLbL

10

0 1 2 3 4 5 6 7 8

9 10
EventID (Time)

Entries
IHit mean column vs. mean row: Ladder 1 Sensor 4I
—
60 __- 1
— r_
—
50— ——
—— — — —
— L o
40f == e — -
—_— e e ——
| —
30 = — —
- - —
20 - —
—
| — — 10—2
10 = _— _— —
] —
-_—
2 4 6 10 12

Mean Column

Entries 861

126

Row

<rawhits>

60

50

40

30

20

10

10

0O 1.2 3 4 5 6 7 8

Entries 151

I Raw Hit column vs. row: Ladder 1 Sensor 4 I

107t

1072

]
2 4 6 8 10 12

Column

Entries 861

INumher of raw hits vs. EventID: Ladder 1 Sensor 4I

e )

><103
9 10

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

0 1 2 3 4 5 6 7 8

Entries

I Raw Hit column vs. row: Ladder 1 Sensor 5 I

n 1
¥ 107!
- 1072
[ [ |
SE B PP = N P
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 1 Sensor 5I

Il il Bl Rl Rl LAY Rl LA RLAL R
i 1.3
N PP T Y 1 Y T P PP e et e o)

9 10
EventID (Time)

16

861

Entries 14

IHit mean column vs. mean row: Ladder 1 Sensor SI

2 I
x 60
c [ 1
< L
<) L
= 50
40F
X 1071
30
20F
i 1072
10F
: [ ]
T B N S B P
2 4 6 8 10 12
Mean Column
Entries 888
I Raw Hit column vs. row: Ladder 1 Sensor 6 I
=
[e]
04

12
Column



Mean Row

Row

Entries

880

IHit mean column vs. mean row: Ladder 1 Sensor 6I

0 4
50 ]
- 10°
40 .
30 7
=10
20
||
10
. -=_| e N .. I 1
2 4 6 8 10 12
Mean Column
Entries 231
Raw Hit column vs. row: Ladder 2 Sensor 1
60
1
50
40
107
30
20
-2
10 10
2 4 6 8 10 12
Column

Entries 861
INumber of raw hits vs. EventID: Ladder 1 Sensor 6I
N :FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI‘FI‘FrFI‘FFrFI‘FFrFFI‘FrFI‘FI:
2 i .
E o -
\Y
Ix10°
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 186
Hit mean column vs. mean row: Ladder 2 Sensor 1
g
@ 60
3
P 1
= 50
40
107"
30
20
-2
10 10

10 12

Mean Column
Page 12



<rawhits>

Mean Row

10

Entries

861

INumber of raw hits vs. EventID: Ladder 2 Sensor 1I

i bl Rl R R RAAL RRbb) RLLA R hhbks

[ ><103

o0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries

163

IHit mean column vs. mean row: Ladder 2 Sensor 2I

Mean Column

Entries 179

I Raw Hit column vs. row: Ladder 2 Sensor 2 I

S
x 60 1
50
40
107
30
20
1072
10
2 4 6 8 10 12
Column
Entries 861
INumber of raw hits vs. EventID: Ladder 2 Sensor 2I
LS L L L
N N -
g I :
\% L -

EventID (Time)

><103

3 4 5 6 7 8 9 10



Entries

I Raw Hit column vs. row: Ladder 2 Sensor 3 I

=
o
[ad
1
107
107
- |
P P S B PR BT e T
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 2 Sensor 3I
A [TTTT T T[T T[T [T I [ IO [ TTT T[T AT T IT T T TTTT]
2
=
10 -
B .
v C ]
1 -]
Jx10°

0 5 6 7 8 9 10
EventID (Time)

208

861

Entries 180
IHit mean column vs. mean row: Ladder 2 Sensor 3I
=
o
@
3
s 1
=
107
1072
—
—
P I e S PR BT e S
2 4 6 8 10 12
Mean Column
Entries 184
Raw Hit column vs. row: Ladder 2 Sensor 4
3
@ 60
1
50
40
10™
30
20
-2
10 10

2 4 6 8 10 12

Column
Page 14



Entries

168

IHit mean column vs. mean row: Ladder 2 Sensor 4I

=
)
o
s
Py 1
=
107
-2
10 L 10
PR i I i T PR e = BEPEN AT H EPERC TR
2 4 6 8 10 12
Mean Column
Entries 81
I Raw Hit column vs. row: Ladder 2 Sensor 5 I
3
o 60
1
50
40
107
30
20
-2
10 10

Column

Entries 861

INumber of raw hits vs. EventID: Ladder 2 Sensor 4I

A [TTTT TTrr [T rT[TITT[TTTT[Irrr[ IO T T [TITT[TTITTTTT)
2
< 10F =
g f :
% [ ]
1f =
| x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 74
IHit mean column vs. mean row: Ladder 2 Sensor 5I

S
@ 60
s
P 1
= 50

40

10™
30
20
-2
10 10

2 4 6 8 10 12

Mean Column
Page 15



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 2 Sensor SI

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

Entries

IHit mean column vs. mean row: Ladder 2 Sensor 6I

Mean Column

Entries 861

131

Entries 150

I Raw Hit column vs. row: Ladder 2 Sensor 6 I

3
x 60 1

50 ]

40

--10'1
30 .
20 1
1072
10 [ |
|
e el ——
' — i I .
2 4 6 8 10 12
Column
Entries 861
INumber of raw hits vs. EventID: Ladder 2 Sensor 6I

N TFI'FrFI'FFrI'FI'FrFI'FFrFI'FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
9
£ 10F v
g f ]
\ L -

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

10

Entries

I Raw Hit column vs. row: Ladder 3 Sensor 1 I

2 4 6 8 10 12
Column

107t

1072

Entries

INumber of raw hits vs. EventID: Ladder 3 Sensor ll

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

EventID (Time)

><103

3 4 5 6 7 8 9 10

183

861

Entries 157
IHit mean column vs. mean row: Ladder 3 Sensor 1I
=
o
@
3
s 1
=
107!
-2
10 —_— 10
—
PR i T e TN M (e p v R NN RN R
2 4 6 8 10 12
Mean Column
Entries 185
I Raw Hit column vs. row: Ladder 3 Sensor 2 I
= [ —
@em;
X 1
5 —
SOF —
: —
40F
: —
[ — 10‘1
30 -_ —
: —
20k — —
: —
: — -2
10f 10
: —
2 4 6 8 10
Column



Mean Row

Row

<rawhits>

Entries 155
IHit mean column vs. mean row: Ladder 3 Sensor 2I
60
[ 1
50F
40fF
X 107
30
20F
B -2
10f 10
N T TP — — P e AP
2 4 6 8 10 12
Mean Column
Entries 154
Raw Hit column vs. row: Ladder 3 Sensor 3
60
50 !
40
30 107
20
10 1072
2 4 6 8 10 12
Column

Mean Row

Entries 861
INumber of raw hits vs. EventID: Ladder 3 Sensor 2I
10 -
1 =
1 -
1 -
| .
| .
I ]
| Jx10°
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 132
Hit mean column vs. mean row: Ladder 3 Sensor 3
60
50 1
40
30 1071
20
10 1072

10 12

Mean Column
Page 18



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 3 Sensor 3I

Entries 861 Entries 190

I Raw Hit column vs. row: Ladder 3 Sensor 4 I

6 8 10 12
Mean Column

T T T T[T T T[T [T T [ TO T [ TTT T[T AT T ITTTTTTT] =
5 - o
L J [a'd
- ' 1
- 107!
107
x10° I T e N — — — P B
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 158 Entries 861
IHit mean column vs. mean row: Ladder 3 Sensor 4I INumher of raw hits vs. EventID: Ladder 3 Sensor 4I
,U\) [TTTT T [ TE I [ TIT T [TI T T[T r[TT T[T I TTITTTTT]
= 10F -
e N -
1 g [ ]
V o -
107
1 r
1072 I I
T e i . — - - I x10°

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

10

Entries

I Raw Hit column vs. row: Ladder 3 Sensor 5 I

1
107t
1072
|
P e TP EPEPEPEE PR [ Sm—
2 4 6 8 10 12
Column
Entries

INumber of raw hits vs. EventID: Ladder 3 Sensor 5I

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

170

861

Entries 151
IHit mean column vs. mean row: Ladder 3 Sensor SI
=
@)
@
3
s 1
=
107!
107
—
PR i S E RS N Bt T N NN e e Y
2 4 6 8 10 12
Mean Column
Entries 142
I Raw Hit column vs. row: Ladder 3 Sensor 6 I
= I
SY] ppe—
[ 1
40fF —
[ 107t
30 —
20F
[ -2
1of 10
L —
2 4 6 8 10 12
Column



Mean Row

Row

Entries

116

IHit mean column vs. mean row: Ladder 3 Sensor 6I

10
1072
Mean Column
Entries 189
I Raw Hit column vs. row: Ladder 4 Sensor 1 I
1
10™
107

Column

<rawhits>

Mean Row

60

50

40

30

20

10

Entries 861

INumber of raw hits vs. EventID: Ladder 3 Sensor 6I

x10°
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 159

IHit mean column vs. mean row: Ladder 4 Sensor 1I

—
1
—
—
—
— 10-1
—
— —
—
—
— )
—

4 6 8 10 12
Mean Column



<rawhits>

Mean Row

Entries 861 Entries 188

INumber of raw hits vs. EventID: Ladder 4 Sensor 1I

I Raw Hit column vs. row: Ladder 4 Sensor 2 I

rr 3
10:- _: I
[ ] 1
107!
1 -
I 107
I ¥ x10° P IEPEEPIEPE BRPU i Fe e IPINPIIPEN i S
0 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 163 Entries 861
IHit mean column vs. mean row: Ladder 4 Sensor 2I INumher of raw hits vs. EventID: Ladder 4 Sensor 2I
,U\) [TTTT T [ TE I [ TIT T [TI T T[T r[TT T[T I TTITTTTT]
= 10
< L
1 2 |
V o
107
1F
1072
4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Entries 203

I Raw Hit column vs. row: Ladder 4 Sensor 3 I

=
[@]
04
1
107t
1072
P L L PR i T MPIIPE L f
2 4 6 8 10 12
Column
Entries

INumber of raw hits vs. EventID: Ladder 4 Sensor 3I

e e ey

<rawhits>

0 1 2 3 4 5 6 7 8

9 10
EventID (Time)

Entries 183

IHit mean column vs. mean row: Ladder 4 Sensor 3I

Mean Row

107t

1072

2 4 6 8 10 12
Mean Column

Entries 191

I Raw Hit column vs. row: Ladder 4 Sensor 4 I

Row

107t

1072

2 4 6 8 10 12
Column

Page 23



Mean Row

Row

Entries

168

IHit mean column vs. mean row: Ladder 4 Sensor 4I

1
107*
1072
4 6 8 10 12
Mean Column
Entries 159

I Raw Hit column vs. row: Ladder 4 Sensor 5 I

Column

<rawhits>

Mean Row

Entries 861
INumber of raw hits vs. EventID: Ladder 4 Sensor 4I
ﬂ'l'l'FrFFFFrI'FI'FrFI'FFrFFFFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FH
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 133

IHit mean column vs. mean row: Ladder 4 Sensor 5I

Mean Column



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 4 Sensor SI

Entries 861 Entries 133

I Raw Hit column vs. row: Ladder 4 Sensor 6 I

Row

IHit mean column vs. mean row: Ladder 4 Sensor 6I

Mean Column

1071
] 1072
Ll x10° .|...|.-FFH...|...|.
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 113 Entries 861

INumber of raw hits vs. EventID: Ladder 4 Sensor 6I

e )

|_\
<rawhits>
|_\
o

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

Entries

I Raw Hit column vs. row: Ladder 5 Sensor 1 I

Row

B 1
X 107*
- 102
N N —
N I i B e P e
2 4 6 8 10 12

Column

Entries

INumber of raw hits vs. EventID: Ladder 5 Sensor 1I

6 7
EventID (Time)

8§ 9 10

179

861

Mean Row

Entries 150
IHit mean column vs. mean row: Ladder 5 Sensor 1I
I 1
107
1072
Mean Column
Entries 181

I Raw Hit column vs. row: Ladder 5 Sensor 2 I

Column



Mean Row

Row

Entries 155
IHit mean column vs. mean row: Ladder 5 Sensor 2I
I 1
107
1072
Mean Column
Entries 231
Raw Hit column vs. row: Ladder 5 Sensor 3
60
50 !
40
30 107
20
10 1072
2 4 6 8 10 12
Column

Entries 861
INumber of raw hits vs. EventID: Ladder 5 Sensor 2I
A il el bl Rl LA R LA RLbL) LA Rbhs
ﬂ o -
I ]
§ I ]
\Y o -
1 -
Jx10°
0 4 5 6 7 8 9 10
EventID (Time)
Entries 195
Hit mean column vs. mean row: Ladder 5 Sensor 3
S
@ 60
c
8
= 50 !
40
30 107"
20
10 1072

2 4 6 8 10 12

Mean Column
Page 27



By
o

<rawhits>

Mean Row

Entries 861 Entries 168

INumber of raw hits vs. EventID: Ladder 5 Sensor 3I

I Raw Hit column vs. row: Ladder 5 Sensor 4 I

Row

107"
1072
3
%10
0 2 3 4 5 6 7 8 9 10
EventID (Time) Column
Entries 144 Entries 861
IHit mean column vs. mean row: Ladder 5 Sensor 4I INumber of raw hits vs. EventID: Ladder 5 Sensor 4I
N 'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI'FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
0 10F r
= :
3 5 -
—_ L -
\%
1K .
L - 3
L0 x10

Mean Column

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

Entries
I Raw Hit column vs. row: Ladder 5 Sensor 5 I
L 1
X 107
o 1072
= —— —
S EE B T i S [ TR MR R
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 5 Sensor SI
RALLE LLLLS RS LAY LAY RAAL LAY LA R LA
3
x10

4 5 6 7 8 9 10
EventID (Time)

141

861

Mean Row

Row

Entries 120
IHit mean column vs. mean row: Ladder 5 Sensor SI
I 1
107
1072
Mean Column
Entries 124

I Raw Hit column vs. row: Ladder 5 Sensor 6 I

Column



Mean Row

Row

60

50

40

30

20

10

Entries

106

IHit mean column vs. mean row: Ladder 5 Sensor 6I

107
1072
Mean Column
Entries 202
I Raw Hit column vs. row: Ladder 6 Sensor 1 I
:- |
L — 1
- ——
g _— =
C [ —
E ey — 1072
: — —
:_ : ] 10—2
: — —
L —
4 6 8 10 12
Column

<rawhits>

Mean Row

Entries 861
INumber of raw hits vs. EventID: Ladder 5 Sensor 6I
1f
Ll
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 166
IHit mean column vs. mean row: Ladder 6 Sensor 1I

60f

8 1

b —
*F - =

: —_—
40

E — 10‘1
30

E —
20 —

: —

: — — -2
10 = 10

5 —

5 —

10 12
Mean Column



<rawhits>

Mean Row

10

(T [ T [ T O T T T

Entries 861

INumber of raw hits vs. EventID: Ladder 6 Sensor 1I

2 3 4 5 6 7 8 9 10
EventID (Time)

Entries 158

Il

IHit mean column vs. mean row: Ladder 6 Sensor 2I

1072

Mean Column

Entries 183

I Raw Hit column vs. row: Ladder 6 Sensor 2 I

Row

Column

107

1072

Entries 861

INumber of raw hits vs. EventID: Ladder 6 Sensor 2I

oy

<rawhits>

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

Entries

I Raw Hit column vs. row: Ladder 6 Sensor 3 I

Column

107t

Entries

INumber of raw hits vs. EventID: Ladder 6 Sensor 3I

3 4 5 6 7 8 9 10
EventID (Time)

><103

206

861

Mean Row

Row

60

50

40

30

20

10

Entries 182
IHit mean column vs. mean row: Ladder 6 Sensor 3I
I 1
107t
1072
2 4 6 8 10 12
Mean Column
Entries 176
I Raw Hit column vs. row: Ladder 6 Sensor 4 I
[ 1
[ 107t
- 1072

M S P EPEPE S S P B e B

2 4 6 8 10 12
Column

Page 32



Mean Row

Row

60

50

40

30

20

10

Entries

150

IHit mean column vs. mean row: Ladder 6 Sensor 4I

10

12
Column

[ 1
8 107!
- 102
:.I...I..._.I...I...I.
2 4 6 8 10 12
Mean Column
Entries 195
I Raw Hit column vs. row: Ladder 6 Sensor 5 I
1
107
1072

<rawhits>

Mean Row

Entries 861
INumber of raw hits vs. EventID: Ladder 6 Sensor 4I
oo oo Ty
il -
x10°
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 162
IHit mean column vs. mean row: Ladder 6 Sensor 5I
60
1
50
40
10™
30
20
-2
10 10

10 12
Mean Column

Page 33



<rawhits>

Mean Row

Entries 861 Entries 119

INumber of raw hits vs. EventID: Ladder 6 Sensor SI I Raw Hit column vs. row: Ladder 6 Sensor 6 I

[TTTT T T[T T T[T [T [ TO T [TTT T[T AT T ITT T TTTT]
10 - % I
: ] @ 1
I l 107t
1n .
] 1072
Jx10° == = =P
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 91 Entries 861
IHil mean column vs. mean row: Ladder 6 Sensor BI INumber of raw hits vs. EventID: Ladder 6 Sensor 6I
A [TTTT T [ TE I [ TIT T [TI T T[T r[TT T[T I TTITTTTT]
2 - i
60 1 g
: J 10 E
50 b C ]
40 - -
<107
30 ]
iy 1 -
20 ) ]
1072 I ]
10 | ]
| 3
1 o P — N x10
2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Page 34



Entries 206 Entries 167
I Raw Hit column vs. row: Ladder 7 Sensor 1 I IHit mean column vs. mean row: Ladder 7 Sensor 1I
= =
o o]
[ad [a'd
1 3 1
(]
=
107 107!
107 107
||
i i TR Y (e U PR i TR P (e RN e
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column
Entries 861 Entries 196
INumber of raw hits vs. EventID: Ladder 7 Sensor 1I Raw Hit column vs. row: Ladder 7 Sensor 2
A TTTT T[T T[T T [TIT T [ TT T T [TTT T [TIT T TTTT[TTTT] ——
@ g
g 10 ~ x 60
S oI ] !
L - 50
40
107t
30
1 r
r ] 20
| ] 1072
- L 10
1 Ll Jx10°

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

2 4 6 8 10 12

Column
Page 35



Mean Row

Row

Entries 168

IHit mean column vs. mean row: Ladder 7 Sensor 2I

107t

Mean Column

Entries 182

I Raw Hit column vs. row: Ladder 7 Sensor 3 I

1

107t

1072

P PP L P Pl P e B

2 4 6 8 10 12
Column

Entries 861
INumber of raw hits vs. EventID: Ladder 7 Sensor 2I
/R L L L
=2 10F -
é L 4
s I ]
\Y L -
1
LE
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 159
IHit mean column vs. mean row: Ladder 7 Sensor 3I
=
o
@
s
P 1
=
10™
1072

P PP L P Pl B e B

2 4 6 8 10 12
Mean Column



=
o
LA B LB |

<rawhits>

|

Entries 861 Entries 157

INumber of raw hits vs. EventID: Ladder 7 Sensor 3I

I Raw Hit column vs. row: Ladder 7 Sensor 4 I

Row

107"
1 r
1072
3
! %10
0 2 3 4 5 6 7 8 9 10
EventID (Time) Column
Entries 141 Entries 861
IHit mean column vs. mean row: Ladder 7 Sensor 4I INumber of raw hits vs. EventID: Ladder 7 Sensor 4I
= N RALLY LALS RARES RALES LALLY RALLS RALES RALEY LI LY
o b i i
14 =
c o -
g :
s \%
1ir -
b 3
x10

Mean Column

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

Entries
I Raw Hit column vs. row: Ladder 7 Sensor 5 I
60fF
[ 1
S0
40f
X 107
30
20k
[ -2
10 10
: PR i T T P T I P
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 7 Sensor SI
[TTTT T ET T[T T [TOTT[ IO I [TIIT[TIrI[TIIT[TTTT)
10 =
1 =
il -
1] -
If -
| -
| -
‘ x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

154

861

Mean Row

Row

Entries 130

IHit mean column vs. mean row: Ladder 7 Sensor SI

107t
1072
W——_ T s
4 6 8 10 12
Mean Column
Entries 119

I Raw Hit column vs. row: Ladder 7 Sensor 6 I

Column




Mean Row

Row

Entries

101

IHit mean column vs. mean row: Ladder 7 Sensor 6I

1
107
1072
M B PR P B S
2 4 6 8 10 12
Mean Column
Entries 154
Raw Hit column vs. row: Ladder 8 Sensor 1
60
1
50
40
107
30
20
-2
10 10

2 4 6 8 10 12
Column

<rawhits>

60

Mean Row

50

40

30

20

10

Page 39

Entries

861

INumber of raw hits vs. EventID: Ladder 7 Sensor 6I

2 3 4 5 6 7 8 9 10

EventID (Time)

Entries

130

Hit mean column vs. mean row: Ladder 8 Sensor 1

4 6 8 10 12
Mean Column

107t

1072



<rawhits>

Mean Row

Mean Column

Entries 191
INumber of raw hits vs. EventID: Ladder 8 Sensor 1I I Raw Hit column vs. row: Ladder 8 Sensor 2 I
W ;
L 4 o
[ ] @
L - 1
il - 107
1072
11 ><103 Y . . T T . T . .
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 163 Entries 861
IHit mean column vs. mean row: Ladder 8 Sensor 2I INumber of raw hits vs. EventID: Ladder 8 Sensor 2I
N "WWW
2
1 <
= = -
2 10} -
| — - -
\% o -
107" i
1
1072

0O 1.2 3 4 5 6 7 8

9 10
EventID (Time)



Entries

I Raw Hit column vs. row: Ladder 8 Sensor 3 I

=
o
[ad
1
107!
|| 1072
P B BN S S BEPE A TR
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 8 Sensor 3I
[TTTT T T[T T[T [ TTr T [ TO I [ TTT T[T IT T IT T T TTTT]
& 10F =
= C .
g [ 2
V - -
1 r
” x10°
o 1 2 3 4 5 6 7 8 9 10

EventID (Time)

202

861

Mean Row

Row

Entries 180
IHit mean column vs. mean row: Ladder 8 Sensor 3I
1
107!
1072
PRI TN R N T N T MR R RN R Y
2 4 6 8 10 12
Mean Column
Entries 177
I Raw Hit column vs. row: Ladder 8 Sensor 4 I
60
50
40
107!
30
20
107
10
2 4 6 8 10 12
Column



Mean Row

Row

Entries 147
IHit mean column vs. mean row: Ladder 8 Sensor 4I
I 1
107
1072
Mean Column
Entries 161
I Raw Hit column vs. row: Ladder 8 Sensor 5 I
1
107
107

4

6

8

10

12
Column

Entries 861
INumber of raw hits vs. EventID: Ladder 8 Sensor 4I

N TFFFrFI'FFrI'FI'FrFI'FFrFI'FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
[
=

£ 10 r

S = -

2 ]

1 r

3
1r x10
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 142
IHit mean column vs. mean row: Ladder 8 Sensor 5I

=
o
@
c
[3M]
[}
=

Mean Column




<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 8 Sensor SI

Entries 861 Entries 127

I Raw Hit column vs. row: Ladder 8 Sensor 6 I

Bl Il Rl il bl Rkl bkl b Rl bk =
o
@
10 -
. ] 1
3 "1 10—1
18 r
] 1072
1 Jx10° M PR P e I B
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 112 Entries 861
IHit mean column vs. mean row: Ladder 8 Sensor 6I INumher of raw hits vs. EventID: Ladder 8 Sensor 6I
N :FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFFFFrFI‘FFrI‘FI‘FrFI‘FI:
2 - i
60 = i J
L F | -
50 Vo .
40
101 1
30 '
20
-2
10 10
LLiLL)

2 4 6 8 10 12
Mean Column

0 1.2 3 4 5 6 7 8 9 10

EventID (Time)
Page 43



Row

<rawhits>

Entries

I Raw Hit column vs. row: Ladder 9 Sensor 1 I

1
107t
1072
" PP B BT .. . B B
2 4 6 8 10 12
Column
Entries

INumber of raw hits vs. EventID: Ladder 9 Sensor ll

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

169

861

Entries 142

IHit mean column vs. mean row: Ladder 9 Sensor 1I

2 I
x 60
% -
0} [ 1
= 50 -
40
8 1071
30
20F
B -2
1of 10
S I B PP — — I B
2 4 6 8 10 12
Mean Column
Entries 207
Raw Hit column vs. row: Ladder 9 Sensor 2
g —r
x 60
1
50
40
1071
30
20
-2
10 10

2 4 6 8 10 12

Column
Page 44



Mean Row

Row

Entries 176
IHit mean column vs. mean row: Ladder 9 Sensor 2I
1
107
— )
10
]
P IEPEEC N R RN T BNEE N BEErre e R R
2 4 6 8 10 12
Mean Column
Entries 210
Raw Hit column vs. row: Ladder 9 Sensor 3
60
1
50
40
10™
30
20
-2
10 10

2 4 6 8 10 12
Column

Entries 861
INumber of raw hits vs. EventID: Ladder 9 Sensor 2I
N
2
=
g
\Y
|
I
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 186
Hit mean column vs. mean row: Ladder 9 Sensor 3
g
@ 60
s
P 1
= 50
40
10™
30
20
-2
10 10

2 4 6 8 10 12

Mean Column
Page 45



<rawhits>

Mean Row

Entries 861 Entries 196
INumber of raw hits vs. EventID: Ladder 9 Sensor 3I I Raw Hit column vs. row: Ladder 9 Sensor 4 I
WWWWW"
] ;
[ § o
L - 41
<107
1 - 3
“ T 1072
I Jx10° FEPEPE EPEPEPE PRI B
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 177 Entries 861
IHit mean column vs. mean row: Ladder 9 Sensor 4I INumher of raw hits vs. EventID: Ladder 9 Sensor 4I
N
2
60 . =
% 10
=1
50 E Y
40 iy |
30 <107 ‘
. 1§
] |
20 - ;
|
10 102 |
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10

Mean Column

EventID (Time)



Entries 174 Entries 139

I Raw Hit column vs. row: Ladder 9 Sensor 5 I IHit mean column vs. mean row: Ladder 9 Sensor SI

= =
[@] (@]
4 o 1
@
1 (]
=
107t
107*
1072
1072
s e b o o1 e by o 1, .1, PRI B
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column
Entries 861 Entries 112

INumber of raw hits vs. EventID: Ladder 9 Sensor 5I I Raw Hit column vs. row: Ladder 9 Sensor 6 I

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

Row

60
10

<rawhits>

50

40

30

20

10

0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column



Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

Entries

99

IHit mean column vs. mean row: Ladder 9 Sensor 6I

: ]
F ==
= |
-
:_ — [r— I
- — — 107!
B |
o — -
: —-_ —
: - |
- __ — | S
B |
._ ___ f— |
[ R
S BT T Y - |

2 4 6 8 10 12

Mean Column
Entries 200
I Raw Hit column vs. row: Ladder 10 Sensor 1I

I — — 1
: I
: |
L -1
: I
'_ |
: — I
- 107
- I
- |

2 4 6 8 10 12

Column

<rawhits>

60

Mean Row

50

40

30

20

10

Mean Column

Entries 861
INumber of raw hits vs. EventID: Ladder 9 Sensor 6I
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 160
IHit mean column vs. mean row: Ladder 10 Sensor il
— 1
—
|
-1
—
1072
—
4 6 8 10 12



=
o
LENLELELELN |

<rawhits>

60

Mean Row

50

40

30

20

10

Entries 861

INumber of raw hits vs. EventID: Ladder 10 Sensor j

|

5

6

7 8 9 10
EventID (Time)

Entries 171

Hit mean column vs. mean row: Ladder 10 Sensor

107t

1072

10 12
Mean Column

Row

<rawhits>

50

40

30

20

10

[y
o

Entries 200
I Raw Hit column vs. row: Ladder 10 Sensor 2 I
1
—
— _—
— | ] —
] —
107!
]
—
—
—
107
— |
M T T s e B
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 10 Sensor 2I
3
x10

5 6 7 8 9 10

EventID (Time)



Entries
IRaw Hit column vs. row: Ladder 10 Sensor 3 I
=
)
@
1
107
107
PR i B RN EE BT T B G e S e AT
2 4 6 8 10 12
Column
Entries

humber of raw hits vs. EventID: Ladder 10 Sensor 3I

ATFFFrFFFFrI'FI'FrFFI'FrFI‘FFrFFI‘FrFI‘I‘FrFFFFrI‘FFFrFH‘I‘
2]0:
<k
g [
V-
1
I
i
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

177

861

Entries 154
IHit mean column vs. mean row: Ladder 10 Sensor j
=
o
@
3
s 1
=
107!
107
PR B RN R BT T B i S N
2 4 6 8 10 12
Mean Column
Entries 201
I Raw Hit column vs. row: Ladder 10 Sensor 4I
3
@ 60
50 1
40
30 107
20
-2
10 ——— 10
—_— —
PRI S A IR A I A B
2 4 6 8 10 12
Column



Mean Row

Row

Entries 174
IHit mean column vs. mean row: Ladder 10 Sensorj
60
1
50
40
107
30
20
-2
10 — 10
—
o —
MM e e P T T
2 4 6 8 10 12
Mean Column
Entries 164
I Raw Hit column vs. row: Ladder 10 Sensor 5 I
60
1
50
40
107
30
20
-2
10 10
2 4 6 8 10 12
Column

<rawhits>

Mean Row

Entries 861
humber of raw hits vs. EventID: Ladder 10 Sensor 4I
TFFFrFFFFrI'FI'FrFI'FFrFI‘FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
10F 3
1p r
! x10°
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 146
IHit mean column vs. mean row: Ladder 10 Sensoril
60
1
50
40
10™
30
20
-2
10 10

10 12
Mean Column

Page 51



<rawhits>

Mean Row

Entries 142
humber of raw hits vs. EventID: Ladder 10 Sensor 5I I Raw Hit column vs. row: Ladder 10 Sensor 6 I
W ;
5 _ o
B . ad 1
107"
1k =
H .
I i
H )
| ]
| ] 102
3
‘ x10
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 117 Entries 861
IHil mean column vs. mean row: Ladder 10 Sensor EI humber of raw hits vs. EventID: Ladder 10 Sensor 6I
N 'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI'FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
2
60 1 £ 10
; g
h \%
50 .
40 N
10"
30 . 1
20
1072
10
e
—
MR B B B R R

2 4 6 8 10 12

Mean Column

7 8 9 10
EventID (Time)




Entries

I Raw Hit column vs. row: Ladder 11 Sensor 1I

=
o
@
1
10™
1072
P I I : M I T
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 11 Sensor j
A L b R Rl L) R LELL) Rl RALb) AL
2
=
10 =
v L ]
1 -
I ]
I ]
I _
I ]
| 1
i -
I Jx10°

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

178

861

Entries 141
IHit mean column vs. mean row: Ladder 11 Sensor j
=
o
@
c
©
2 1
107!
1072
.I...I...:.I...I...I.
2 4 6 8 10 12
Mean Column
Entries 197
Raw Hit column vs. row: Ladder 11 Sensor 2
3
@ 60
1
50
40
10™
30
20
-2
10 10

2 4 6 8 10 12

Column
Page 53



Mean Row

Row

60

50

40

30

20

10

IHit mean column vs. mean row: Ladder 11 Sensor ﬂ

1
2

4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 11 Sensor 3 I

Column

Entries 165

107t

1072

Entries 175

Entries 861

bumber of raw hits vs. EventID: Ladder 11 Sensor 2I

'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
10

<rawhits>

><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries 156

IHit mean column vs. mean row: Ladder 11 Sensor j

Mean Row

10 12
Mean Column



<rawhits>

Mean Row

10

0 1 2 3 4 5 6 7 8

60

50

40

30

20

10

humber of raw hits vs. EventID: Ladder 11 Sensor 3I

i bl Rl R R RAAL RRbb) RLLA R hhbks

9 10
EventID (Time)

Entries

IHit mean column vs. mean row: Ladder 11 Sensor :I

L —
[ —
- C —
.- ____| —
2 4 6 8 10 12

Mean Column

107t

1072

Entries 861

159

Row

<rawhits>

Entries 183
I Raw Hit column vs. row: Ladder 11 Sensor 4I
60f
[ 1
50
40
[ 107!
30
20k
5 -2
10 10
e I I — — i PP O
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 11 Sensor 4I
el Il Rl Rl RS R AL LELL) RLLL LLbi |
1n -
[ Ix10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

Entries

I Raw Hit column vs. row: Ladder 11 Sensor 5 I

1
107
1072
M PR PR e BEPEEPEE I DRV o e B S 0
2 4 6 8 10 12
Column
Entries
humher of raw hits vs. EventID: Ladder 11 Sensor SI
" 3
i x10

1 2 3 4 5

6

7 8 9 10
EventID (Time)

168

861

Entries 147
IHit mean column vs. mean row: Ladder 11 Sensorj
=
o
@
3
s 1
=
107!
107
M PR PR e s BEPEPET T BT e e i TR
2 4 6 8 10 12
Mean Column
Entries 125
I Raw Hit column vs. row: Ladder 11 Sensor 6 I
3
@ 60
1
50
40
10™
30
20
-2
10 10

Column
Page 56



Mean Row

Row

Entries 102
IHit mean column vs. mean row: Ladder 11 Sensor ﬂ
1
107
1072
M PR BT S e s RN RN R
2 4 6 8 10 12
Mean Column
Entries 207
I Raw Hit column vs. row: Ladder 12 Sensor 1I
1
10™
1072

P I e BPEFEPE PEPEPE EPPE

I
2 4 6 8 10 12

Column

<rawhits>

Mean Row

Entries 861

humber of raw hits vs. EventID: Ladder 11 Sensor GI

oy

i -
Ls Lils g ) X103
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 165

IHit mean column vs. mean row: Ladder 12 Sensor il

107t

1072

2 4 6 8 10 12
Mean Column




<rawhits>

Mean Row

Entries

861

INumber of raw hits vs. EventID: Ladder 12 Sensor j

i bl Rl R R RAAL RRbb) RLLA R hhbks

10

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

Entries 135
Hit mean column vs. mean row: Ladder 12 Sensor

60

1
50
40

107"
30
20

-2

10 10

2 4 6 8 10 12
Mean Column

Entries 166

I Raw Hit column vs. row: Ladder 12 Sensor 2 I

Row

107t

1072

2 4 6 8 10 12
Column

Entries 861

humber of raw hits vs. EventID: Ladder 12 Sensor 2I

'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
10

<rawhits>

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

10

I Raw Hit column vs. row: Ladder 12 Sensor 3 I

2 4 6 8 10 12
Column

humber of raw hits vs. EventID: Ladder 12 Sensor 3I

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries 212

107t

Entries 86

I

><103

Mean Row

Row

Entries

175

IHit mean column vs. mean row: Ladder 12 Sensor j

4 6 8 10 12
Mean Column

Entries

168

I Raw Hit column vs. row: Ladder 12 Sensor 4 I

Column



Mean Row

Row

Entries 147
IHit mean column vs. mean row: Ladder 12 Sensorj
I 1
107
1072
Mean Column
Entries 171
Raw Hit column vs. row: Ladder 12 Sensor 5
60
1
50
40
107
30
20
-2
10 10
2 4 6 8 10 12
Column

Entries 861
bumber of raw hits vs. EventID: Ladder 12 Sensor 4I
A Il b Rkl R RS R AL LELL) RLLLY LLLLI
2
< -
2 ]
V; -
Jx10°
3 4 5 6 7 8 9 10
EventID (Time)
Entries 147
Hit mean column vs. mean row: Ladder 12 Sensor
S
@ 60
s
P 1
= 50
40
10™
30
20
1072
10

2 4 6 8 10 12

Mean Column
Page 60



<rawhits>

Mean Row

Entries 140
humber of raw hits vs. EventID: Ladder 12 Sensor 5I I Raw Hit column vs. row: Ladder 12 Sensor 6 I
W ;
; : g
I ] 1
107"
1F =
| ]
| ] 1072
3
| x10
o 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column
Entries 115 Entries 861

IHil mean column vs. mean row: Ladder 12 Sensor EI

Mean Column

humber of raw hits vs. EventID: Ladder 12 Sensor 6I

'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
10

<rawhits>

><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

Entries

I Raw Hit column vs. row: Ladder 13 Sensor 1I

107t

1072

2 4 6 8 10 12
Column

Entries

INumber of raw hits vs. EventID: Ladder 13 Sensor j

><103
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

180

861

Entries 154
IHit mean column vs. mean row: Ladder 13 Sensor j

=
o
o 1
% ]
o) — ]
= — -

|| -

—
107"

Mean Column

Entries 195
Raw Hit column vs. row: Ladder 13 Sensor 2
3
o 60
1
50
40
107t
30
20
-2
10 10
2 4 6 8 10 12
Column

Page 62



Mean Row

Row

60

50

40

30

20

10

Entries

170

IHit mean column vs. mean row: Ladder 13 Sensor ﬂ

1
107
107
M I BT S e Mt S
2 4 6 8 10 12
Mean Column
Entries 169
I Raw Hit column vs. row: Ladder 13 Sensor 3 I
: - 1
- I
[ )
[ — 10
: I
:- — I
: — 10_2
- — L]
-
2 4 6 8 10
Column

Entries 861
humber of raw hits vs. EventID: Ladder 13 Sensor 2I
N TFFFrFI'FFrI'FI'FrFI'FFrFI'FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
n 10 =
= L -
é 5 -
8 [ ]
V o -
1 -
[ ]
I
3
H x10
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 142
IHit mean column vs. mean row: Ladder 13 Sensor j
=
o
@
c
[3M]
[}
=

Mean Column




<rawhits>

Mean Row

10

o0 1 2 3 4 5 6 7 8 9 10

Entries 861 Entries 171

humber of raw hits vs. EventID: Ladder 13 Sensor SI

I bl Rl R R RAAA RRbb] RLAb R RLbL

EventID (Time)

I Raw Hit column vs. row: Ladder 13 Sensor 4 I

Row

><103

Column

107t

Entries 148 Entries 861

IHit mean column vs. mean row: Ladder 13 Sensor:l

2 4 6 8 10 12
Mean Column

humber of raw hits vs. EventID: Ladder 13 Sensor 4I

|

10

<rawhits>

3 4 5 6 7 8 9 10
EventID (Time)

><103



Row

<rawhits>

10

Entries

I Raw Hit column vs. row: Ladder 13 Sensor 5 I

Column

107t

1072

Entries

humber of raw hits vs. EventID: Ladder 13 Sensor SI

2 3 4

5

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

6

7 8 9 10
EventID (Time)

Jx10°

158

861

Entries 132
IHit mean column vs. mean row: Ladder 13 Sensor j
=
&
1
c
©
[}
=
107t
1072
Mean Column
Entries 135
I Raw Hit column vs. row: Ladder 13 Sensor 6 I
2 I
x 60f —
X 1
S0
B —
40
[ — —
[ 107t
30F
B —
B —_—
20 - o
[ -2
L — 10
10
B —

2 4 6 8 10 12
Column



Mean Row

Row

Entries

110

IHit mean column vs. mean row: Ladder 13 Sensor ﬂ

10
1072
1 1
2 4 6 8 10 12
Mean Column
Entries 178
Raw Hit column vs. row: Ladder 14 Sensor 1

60

1
50
40

10™
30
20

-2

10 10

2 4 6 8 10 12
Column

Entries 861

humber of raw hits vs. EventID: Ladder 13 Sensor GI

A RAAAN AR L LR R LR RAREN RRREN RAREE LERRY
2
= -
5 :
\Y -
IR Y
2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 153
IHit mean column vs. mean row: Ladder 14 Sensor j
2
x 60 ]
= [
[} : — 1
= 50 - —
: —
40f e
: —
: 10™
30k —
C —
20 :- —
[ -2
10f 10

2 4 6 8 10 12
Mean Column



By
o

<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 14 Sensor j

|

5 6 7 8
EventID (Time)

9 10

Entries

IHit mean column vs. mean row: Ladder 14 Sensor fl

Mean Column

107t

1072

Entries 861

138

Entries 166
I Raw Hit column vs. row: Ladder 14 Sensor 2 I
=
x 60
[ 1
50
40
[ 107!
30
20
: 10—2
10
:.I...I...I...I...I...
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 14 Sensor 2I
/U\) [TTTTTIrr[TTTT[TITT [T T[IT T [TITT[TIrT[TIIT[TTITT)
= 10F e
§ L 4
s [ ]
\% L -

4 5 6 7 8

9 10
EventID (Time)

Page 67




Row

Entries

I Raw Hit column vs. row: Ladder 14 Sensor 3 I

1
107
—
—
— 10—2
P S I s RN AT RN R A
2 4 6 8 10 12

Column

Entries

humher of raw hits vs. EventID: Ladder 14 Sensor 3I

'I'FI'FrFI'FFrI'FI'FrI'FI'FrFI'FFrI'FI'FrFI‘FFrFI‘FFrFFFFrFI‘FI‘
o 10F r
< [ §
% ) ]
Vi 5 -
1in =
Il -
Il -
Il -
H -

I Ix10°

0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

192

861

Entries 169
IHit mean column vs. mean row: Ladder 14 Sensorj
=
o
@
3
s 1
=
107
1072
P S I RN AT RN R B A
2 4 6 8 10 12
Mean Column
Entries 199
I Raw Hit column vs. row: Ladder 14 Sensor 4I
3
@ 60
1
50
40
10™
30
20
-2
10 10

Column
Page 68



Mean Row

Row

Entries
IHit mean column vs. mean row: Ladder 14 Sensorj
1
107
1072
P i B A I IR R e B A
2 4 6 8 10 12
Mean Column
Entries
I Raw Hit column vs. row: Ladder 14 Sensor 5 I
1
- 10—1
1072

Column

177

176

<rawhits>

Entries

861

bumber of raw hits vs. EventID: Ladder 14 Sensor 4I

><103

o0 1 2 3 4 5 6 7 8 9 10

Mean Row
(o))
o

a1
o

N
o

30

20

10

EventID (Time)

Entries

149

IHit mean column vs. mean row: Ladder 14 Sensor j

Mean Column



<rawhits>

Mean Row

10

humber of raw hits vs. EventID: Ladder 14 Sensor SI

=

2 3 4 5 6 7 8 9 10

EventID (Time)

Entries

IHil mean column vs. mean row: Ladder 14 Sensor EI

Mean Column

107t

1072

Entries 861 Entries 145

I Raw Hit column vs. row: Ladder 14 Sensor 6 I

Row

1071
1072
Column
114 Entries 861

humber of raw hits vs. EventID: Ladder 14 Sensor 6I

<rawhits>

=
o

1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

Entries

I Raw Hit column vs. row: Ladder 15 Sensor 1I

10

2 4 6 8 10 12
Column

107t

1072

Entries

INumber of raw hits vs. EventID: Ladder 15 Sensor j

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

I x10°

184

861

Mean Row

Row

60

50

40

30

20

10

Entries 155
IHit mean column vs. mean row: Ladder 15 Sensor j

1

107!

1072

M P s I B B
2 4 6 8 10 12
Mean Column
Entries 205
I Raw Hit column vs. row: Ladder 15 Sensor 2 I

: — 1
_— — —
L —
B —
B —
5 —_—
X _— 10
B —_—
B —
B —
=~ =
[ = -2
L _— e 10

2 4 6 8 10 12
Column

Page 71



Mean Row

Row

60

50

40

30

20

10

Entries
IHit mean column vs. mean row: Ladder 15 Sensor a
[ 1
5 107
o 1072
B —
S B B s - I
2 4 6 8 10 12
Mean Column
Entries
I Raw Hit column vs. row: Ladder 15 Sensor 3 I
1
10™
107

Column

172

214

Entries 861

humber of raw hits vs. EventID: Ladder 15 Sensor 2I

/(}) [TTTT T [ IO I [T T [TI T T[T T [TT I TIT I TTITTTTT]
= 10 =
e L -
= ]
V = -
10 -
L X103
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 186
IHit mean column vs. mean row: Ladder 15 Sensor j
2
@]
[a'd
s
P 1
=
107t
107

M P i i TP S P e |
2 4 6 8 10 12

Mean Column

Page 72



<rawhits>

Mean Row

10

Entries 861 Entries 212

humber of raw hits vs. EventID: Ladder 15 Sensor SI

I Raw Hit column vs. row: Ladder 15 Sensor 4 I

=
- (@]
: * 1
] 107!
1 1072
><103
2 3 4 5 6 7 8 9 10
EventID (Time) Column
Entries 173 Entries 861

IHit mean column vs. mean row: Ladder 15 Sensor:l

Mean Column

humber of raw hits vs. EventID: Ladder 15 Sensor 4I

'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
10

<rawhits>

|
\
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

Entries

Raw Hit column vs. row: Ladder 15 Sensor 5

Lo ticolumn v ow: Ladder 15 Senor 5

8

10 12
Column

107t

1072

Entries

humber of raw hits vs. EventID: Ladder 15 Sensor 5I

1 2 3 4

5

i bl R R R RAAL Rbb] Rhbb R RLbb

6

7 8 9 10
EventID (Time)

><103

157

861

Entries 143

IHit mean column vs. mean row: Ladder 15 Sensor j

=
(@]
04
@
i 1
=

107%

1072

2 4 6 8 10 12
Mean Column
Entries 125

I Raw Hit column vs. row: Ladder 15 Sensor 6 I

Row

Column



Mean Row

Row

60

50

40

30

20

10

Entries

107 Entries 861

IHit mean column vs. mean row: Ladder 15 Sensor ﬂ

bumber of raw hits vs. EventID: Ladder 15 Sensor GI

/5N L L L AL LL
I 1 = 10F r
= ]
\V 3 -
107! [
1l
1072 \
o 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
Entries 178 Entries 147
Raw Hit column vs. row: Ladder 16 Sensor 1 IHit mean column vs. mean row: Ladder 16 Sensor j
% |8 1§
@ 60 1
c
18
= 50
40
107t
10™
30
20
1072
107

4 6 8 10

12
Column

2 4 6 8 10 12
Mean Column



<rawhits>

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 16 Sensor j

Ix10°

2 3 4 5 6 7 8 9 10

EventID (Time)

Entries
IHit mean column vs. mean row: Ladder 16 Sensor fl
—
—
— 1
—_—
—_—
1
— 10
—
-2
S 10

4 6 8 10 12
Mean Column

Entries 861

151

Entries 178
I Raw Hit column vs. row: Ladder 16 Sensor 2 I
=
x 60
[ 1
50
40
[ 107!
30
20F
L 10—2
10
NI IPIPEPE TN S
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 16 Sensor 2I
N
2
E
©
S
\%

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

10

Entries

I Raw Hit column vs. row: Ladder 16 Sensor 3 I

Row

1
107t
1072
2 4 6 8 10 12
Column
Entries

humber of raw hits vs. EventID: Ladder 16 Sensor 3I

1 2 3 4 5 6 7 8 9 10
EventID (Time)

216

Mean Row

Entries 189

IHit mean column vs. mean row: Ladder 16 Sensorj

861

1
107!
107
M T i T NI e i PR RIS SR
2 4 6 8 10 12
Mean Column
Entries 202
I Raw Hit column vs. row: Ladder 16 Sensor 4I
1
107t
1072

Column



Mean Row

Row

Entries 178

IHit mean column vs. mean row: Ladder 16 Sensorj

60
1
50
40
107t
30
20
1072

10

T . e e N e T B
2 4 6 8 10 12

Mean Column

Entries 138

I Raw Hit column vs. row: Ladder 16 Sensor 5 I

Column

Entries 861
bumber of raw hits vs. EventID: Ladder 16 Sensor 4I
A RRbbl b bbb b LA R LA LELL) RLLL LLLLY
2
g
g 10F r
Y - ]
1F =
x10°
0 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 117

Mean Row

IHit mean column vs. mean row: Ladder 16 Sensor j

Mean Column



<rawhits>

Mean Row

10

Row

Entries

861

humber of raw hits vs. EventID: Ladder 16 Sensor SI

4 5 6 7 8 9 10
EventID (Time)

Entries

><103

115

IHit mean column vs. mean row: Ladder 16 Sensor EI

4 6 8 10 12
Mean Column

Entries 140

I Raw Hit column vs. row: Ladder 16 Sensor 6 I

<rawhits>

Column

107t

1072

Entries 861

humber of raw hits vs. EventID: Ladder 16 Sensor 6I

5

><103

6 7 8 9 10

EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 17 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 861

INumber of raw hits vs. EventID: Ladder 17 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 17 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 17 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 80



Mean Row

Row

IEntries Ol

IHit mean column vs. mean row: Ladder 17 Sensor a

L B BN L L R BT
60f -
50 -
40fF -
30 -
20F -
10 -
N TP PP TP PP TP TP
2 4 6 8 10 12
Mean Column
Entries 199
Raw Hit column vs. row: Ladder 17 Sensor 3
60
1
50
40
1071
30
20
-2
10 10
2 4 6 8 10 12
Column

Entries 861

humber of raw hits vs. EventID: Ladder 17 Sensor 2I

N
2
= 10
g
\Y
1
107t
1072
x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 170
Hit mean column vs. mean row: Ladder 17 Sensor
3
x 60
s
P 1
= 50
40
107t
30
20
-2
10 10

2 4 6 8 10 12

Mean Column
Page 81



<rawhits>

Mean Row

humber of raw hits vs. EventID: Ladder 17 Sensor 3I

'I'FI'FrFFFFrI'FI'FrI'FI'FrFI'FFrFFI‘FrFI‘I‘FrFFFFrI‘FI‘FrFI‘FI‘

10 -

1k -
Ix10°

0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries
IHit mean column vs. mean row: Ladder 17 Sensor :I

60f

[ 1
S50
40F

B —

X 107"

: | —
20

: —

C -2
10F - 10

: ——

2 4 6 8 10 12

Mean Column

Entries 861

157

Row

<rawhits>

60

50

40

30

20

10

10

0O 1.2 3 4 5 6 7 8

Entries 179
I Raw Hit column vs. row: Ladder 17 Sensor 4I
[ 1
[ 107!
o 1072
S BPEPEEE B B v P S e e '
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 17 Sensor 4I
L 3
x10

9 10
EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

Entries

I Raw Hit column vs. row: Ladder 17 Sensor 5 I

107t

1072

R e e B

] ]
2 4 6 8 10 12

Column

Entries

humber of raw hits vs. EventID: Ladder 17 Sensor 5I

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

6

7 8 9 10
EventID (Time)

172

861

Entries

140

IHit mean column vs. mean row: Ladder 17 Sensor j

2 I
x 60
% L
0} C 1
= 50f=
40k
: 107!
30
20F
[ -2
10f 10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 143
I Raw Hit column vs. row: Ladder 17 Sensor 6 I
2
@]
o

Column



Mean Row

Row

Entries 112 Entries 861
IHit mean column vs. mean row: Ladder 17 Sensor ﬂ bumber of raw hits vs. EventID: Ladder 17 Sensor 6I

I1

<rawhits>

10

[N
o
iR
L

A P e — TP e e

2 4 6 8 10 12 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Entries 215 Entries 169
IHit mean column vs. mean row: Ladder 18 Sensor :I

I Raw Hit column vs. row: Ladder 18 Sensor 1I

] :
60 1 x 60
[y
©
()
50 = 50
40 40
I]-O_1
30 30
20 20
1072
10 10
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 18 Sensor j

[TTTT T T[T T T[T [T T TO T [ TTT T[T AT T ITT T TTTT]
10 -
! :
Il -
Il 4
| '
H x10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries
IHit mean column vs. mean row: Ladder 18 Sensor fl
60 —
N — 1
: T— I
: — |
40 _- gy _— _—
¥ 107
30
20F  m—
[ -2
10F = 10
2 4 6 8 10 12

Mean Column

Entries 861

155

Entries 186
I Raw Hit column vs. row: Ladder 18 Sensor 2 I
2 I
x 60
[ 1
50
40
: 107!
30
20
: 10—2
10
o I
:.I...I...I...I...I...I.
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 18 Sensor 2I
A [TTTTTIrr[TTTT[TITT [T T[IT T [TITT[TIrT[TIIT[TTITT)
b - .
.g
©
g 10

o

Page 85

7
EventID (Time)

8 9 10



Row

<rawhits>

10

Entries

I Raw Hit column vs. row: Ladder 18 Sensor 3 I

1
107
— 1072
—
P T I I e s BN RN RN RN R Y
2 4 6 8 10 12
Column
Entries
humber of raw hits vs. EventID: Ladder 18 Sensor 3I
RRRR RALLS RELLY R LELL) RLLY LELL) Rl hhLb) LY
Ix10°

5

6 7 8 9 10

EventID (Time)

237

861

60

Mean Row

50

40

30

20

10

Row

Entries 203
IHit mean column vs. mean row: Ladder 18 Sensor j
[ 1
[ 107!
-_ I — 10_2
b —
o I
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 178
Raw Hit column vs. row: Ladder 18 Sensor 4
1
107t
107
2 4 6 8 10 12
Column

Page 86



Mean Row

Row

Entries 157

IHit mean column vs. mean row: Ladder 18 Sensorj

60f
[ 1
S0
40fF
¥ 107!
30
20F —
: |
[ -2
10F i 10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 179
Raw Hit column vs. row: Ladder 18 Sensor 5
60
1
50
40
107
30
20
-2
10 10

2 4 6 8 10 12
Column

Entries

861

humber of raw hits vs. EventID: Ladder 18 Sensor 4I

A PITTITTIT[IrIT[TIT T[T TTIT[TITT[TITT[TTITTTIT

2 I §

= L i

% i -

Y] L -

1 -

I -

Il -

I -

I i

:: -

H x10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 152
IHit mean column vs. mean row: Ladder 18 Sensor j

=
o
@
c
[3M]
[}
=

Mean Column




<rawhits>

Mean Row

Entries 861 Entries 155

humber of raw hits vs. EventID: Ladder 18 Sensor 5I I Raw Hit column vs. row: Ladder 18 Sensor 6 I

[TTTT T T[T T T[T [T [ IO [TTT T[T AT T ITTTTTTT]
10F = z
[ ] o
[ ] 1
107!
1F -
] 1072
- —
3 I
x10 P PR BPEPEPEE e e o e i e e e e e SR Y
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 128 Entries 861
IHit mean column vs. mean row: Ladder 18 Sensor EI humber of raw hits vs. EventID: Ladder 18 Sensor 6I
/U\) [TTTT T [ TE I [ TIT T [TI T T[T r[TT T[T I TTITTTTT]
60 = 10F
1 2 |
50 Vo [
40
107
30 1k
20
-2
10 10 H
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Page 88



Row

<rawhits>

Entries
I Raw Hit column vs. row: Ladder 19 Sensor 1I
1
107
107
I
PR R Rt e IR T I S i S S Y
2 4 6 8 10 12
Column
Entries

INumber of raw hits vs. EventID: Ladder 19 Sensor j

I bl Rl RS b RAAL Rbb] Rhbb R RLbb

7 8 9 10
EventID (Time)

157

861

Entries 126
IHit mean column vs. mean row: Ladder 19 Sensor j
=
@)
o 1
c
©
)
=
107!
1072
Mean Column
Entries 192
Raw Hit column vs. row: Ladder 19 Sensor 2
S
@ 60
1
50
40
107t
30
20
-2
10 10
2 4 6 8 10 12
Column

Page 89



Mean Row

Row

Entries

162 Entries 861

IHit mean column vs. mean row: Ladder 19 Sensor a

humber of raw hits vs. EventID: Ladder 19 Sensor 2I

N I'FI'FrFI'FFrI'FI'FrFI'FFrFI'FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FI
2
=
1 (% 10F
VAR
107t
1
I
1072 "
M e A PR PR e B ‘ 1
2 4 6 8 10 12 O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
Entries 216 Entries 184
Raw Hit column vs. row: Ladder 19 Sensor 3 Hit mean column vs. mean row: Ladder 19 Sensor
g
60 @ 60
s
1 S 1
50 = 50
40 40
10™ 10™
30 30
20 20
-2 -2
10 10 10 10

2 4 6 8 10 12
Column

2 4 6 8 10 12

Mean Column
Page 90



<rawhits>

Mean Row

10

60

50

40

30

20

10

humber of raw hits vs. EventID: Ladder 19 Sensor 3I

2 3 4 5

|

6 7 8 9 10
EventID (Time)

Entries

IHit mean column vs. mean row: Ladder 19 Sensor:l

4 6 8 10 12

Mean Column

107t

1072

Entries 861

153

Entries 177
I Raw Hit column vs. row: Ladder 19 Sensor 4I
2 I
x 60
[ 1
S0
40f
[ 107!
30
20f
[ -2
1of _ . 10
: —
i B B i i e T
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 19 Sensor 4I
A PITTTIIT[ITTT[TITT[IITT[ITIT[ IO [TITT[IrIT[TIT
ﬂ o -
s [ ]
§ I i
\% o -
1 -
Ix10°

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

10

Entries

I Raw Hit column vs. row: Ladder 19 Sensor 5 I

1
107!
—
— 10_2
|
e__. e ey
2 4 6 8 10 12
Column
Entries
humber of raw hits vs. EventID: Ladder 19 Sensor SI
TTTT T[T T[T T [TIT T [ TT T T [TTT T [TIT T TTTT[TTTT]
x10°

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

164

861

Entries 138
IHit mean column vs. mean row: Ladder 19 Sensor j
=
o
@
3
s 1
=
107!
107
P BRI T S i e NN NN R T E L e Y
2 4 6 8 10 12
Mean Column
Entries 154
Raw Hit column vs. row: Ladder 19 Sensor 6

3
@ 60

50 1

40

30 107

20

10 1072

2 4 6 8 10 12

Column
Page 92



Mean Row

Row

60

50

40

30

20

10

Entries 128

IHit mean column vs. mean row: Ladder 19 Sensor ﬂ

107t

Mean Column

Entries 200

I Raw Hit column vs. row: Ladder 20 Sensor 1I

1

107t

1072

Column

Entries 861

humber of raw hits vs. EventID: Ladder 19 Sensor GI

:l

<rawhits>

><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Entries 153

IHit mean column vs. mean row: Ladder 20 Sensor j

2 I
@ 60
= C
o} [ 1
250_-
40f
X 1071
30_—
20F
C -2
1oF 10
: |
N T e I e

2 4 6 8 10 12
Mean Column



<rawhits>

Mean Row

INumber of raw hits vs. EventID: Ladder 20 Sensor j

[TTTTTTT [ TrTr[TrIT[TITT[TTTT[TIrT[TITT[TTTT[TTTT]
10 =
1 -
A Jx10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries
IHit mean column vs. mean row: Ladder 20 Sensor fl
60 1
50
40
107
30
20
1072

10

| |
_r— |
. ..J'?f'?ﬁ. .,
2 4 6 8 10 12

Mean Column

Entries 861

181

Entries 210
I Raw Hit column vs. row: Ladder 20 Sensor 2 I
2 I
x 60
[ 1
S0
40F
: 107!
30
20
: 10—2
10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Column
Entries 861
humber of raw hits vs. EventID: Ladder 20 Sensor 2I
A [TTTTTIrr[TTTT[TITT [T T[IT T [TITT[TIrT[TIIT[TTITT)
2
k; 10
© [
V o

7
EventID (Time)

8§ 9 10



Row

10

<rawhits>

Entries
I Raw Hit column vs. row: Ladder 20 Sensor 3 I
1
107
107
M T e S BRI R A
2 4 6 8 10 12
Column
Entries

humber of raw hits vs. EventID: Ladder 20 Sensor 3I

Row

1 2 3 4 5 6

7 8 9 10
EventID (Time)

200

861

Mean Row

Entries

164

IHit mean column vs. mean row: Ladder 20 Sensor j

2

4 6 8 10 12

Mean Column

Entries

107t

1072

200

I Raw Hit column vs. row: Ladder 20 Sensor 4 I

Column




Mean Row

Row

60

50

40

30

20

10

Entries 172
IHit mean column vs. mean row: Ladder 20 Sensorj
I 1
10
1072
Mean Column
Entries 182
I Raw Hit column vs. row: Ladder 20 Sensor 5 I
—
—_—
— 1
I
I 10_1
—
——
—
I
— 10_2
4 10 12
Column

10

<rawhits>

60

Mean Row

50

40

30

20

10

Entries 861

bumber of raw hits vs. EventID: Ladder 20 Sensor 4I

L b R ML RAbR Rhbbl Rbhd RRbb) AL bbby

x10°
1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 157

IHit mean column vs. mean row: Ladder 20 Sensor j

|
——
—
—
I
——
_—
__
—
I

4 6 8 10 12

107t

1072

Mean Column



<rawhits>

Mean Row

Entries 861 Entries 146

humber of raw hits vs. EventID: Ladder 20 Sensor 5I

I Raw Hit column vs. row: Ladder 20 Sensor 6 I

T T T T[T T T[T [T T [ TO T [ TTT T[T AT T ITTTTTTT] =
5 - o
L - @
- . 1
1p - 107
| ]
| .
I .
‘ 102
’ x10° M PR M PR PR
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 118 Entries 861
Hit mean column vs. mean row: Ladder 20 Sensor humber of raw hits vs. EventID: Ladder 20 Sensor 6I
N 'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
2
60 < 10F -
A E
50 Vo -
40
10™
30 1k
20
-2
10 10

2 4 6 8 10 12
Mean Column

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

10

<rawhits>

Entries

I Raw Hit column vs. row: Ladder 21 Sensor 1I

|

2 4 6

8

10 12
Column

107t

1072

Entries

INumber of raw hits vs. EventID: Ladder 21 Sensor j

1 2 3 4

5

6

7 8 9 10
EventID (Time)

><103

152

861

Entries 128
IHit mean column vs. mean row: Ladder 21 Sensor j
=
o
o 1
c
©
[}
=
10™
1072
1
2 4 6 8 10 12
Mean Column
Entries 186
Raw Hit column vs. row: Ladder 21 Sensor 2
S
@ 60
1
50
40
10™
30
20
-2
10 10
2 4 6 8 10 12
Column

Page 98



Mean Row

Row

60

50

40

30

20

10

Entries 162

IHit mean column vs. mean row: Ladder 21 Sensor ﬂ

107t

1072

PR PR e e TR i B TR I i i MY

2 4 6

8

10

12

Mean Column

Entries 174

I Raw Hit column vs. row: Ladder 21 Sensor 3 I

. -__—

3 R

T =

: — —

—— -

: L — —

E_|_,_|...|.r...

2 4 6 8 10
Column

<rawhits>

Entries 861

bumber of raw hits vs. EventID: Ladder 21 Sensor 2I

><103

o0 1 2 3 4 5 6 7 8 9 10

60

Mean Row

50

40

30

20

10

EventID (Time)

Entries 143

IHit mean column vs. mean row: Ladder 21 Sensor j

107t

1072

Mean Column



<rawhits>

Mean Row

10

60

50

40

30

20

10

humber of raw hits vs. EventID: Ladder 21 Sensor SI

I bl Rl R R RAAA RRbb] RLAb R RLbL

2 3 4 5 6 7 8 9 10
EventID (Time)

><1O3

Entries

IHit mean column vs. mean row: Ladder 21 Sensor:l

MM EPEPEPE B PR . . B
2 4 6 8 10 12

Mean Column

107t

1072

Entries 861

Entries 199
I Raw Hit column vs. row: Ladder 21 Sensor 4 I
=
@)
@
1
107!
107
—
MEFEEEE BN E A B B e
2 4 6 8 10 12
Column
168 Entries 861
humber of raw hits vs. EventID: Ladder 21 Sensor 4I
A [TTTTTIrr[TTTT[TITT [T T[IT T [TITT[TIrT[TIIT[TTITT)
ﬂ - -
§
S 10F -
\% o -
1
1
0O 1 2 3 4 5 6 7 8 9 10

Page 100

EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

Entries
I Raw Hit column vs. row: Ladder 21 Sensor 5 I
L 1
X 107
o 1072
B —
i e B E PR R PR BT R
2 4 6 8 10 12
Column
Entries
humber of raw hits vs. EventID: Ladder 21 Sensor 5I
RALLE LLLLS RS LAY LAY RAAL LAY LA R LA
3
x10

7 8 9 10
EventID (Time)

174

861

Entries 157
IHit mean column vs. mean row: Ladder 21 Sensor j
I
x 60
% 3
4] C 1
= 50
40
[ 107
30
20k
[ -2
10F 10
: —
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 135

Row

Page 101

I Raw Hit column vs. row: Ladder 21 Sensor 6 I

10
Column



Mean Row

Row

Entries 119 Entries 861

IHit mean column vs. mean row: Ladder 21 Sensor i bumber of raw hits vs. EventID: Ladder 21 Sensor GI

N WWWWW
60 — £ 10F E
— 1 S ]
— — i S| '
S0 — : I ]
my B i i
— 1 - -

— = 0
30 — f— ] 1 -
| | :
— — b -
20F _E- ]
| -2 o
| -

|
10 S [ | 4
|
= . _ I x10°

2 4 6 8 10 12 o 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Entries 155 Entries 141
I Raw Hit column vs. row: Ladder 22 Sensor 1I IHit mean column vs. mean row: Ladder 22 Sensor j

Mean Row

Column Mean Column
Page 102



<rawhits>

Mean Row

Mean Column

0 1.2 3 4 5 6 7 8 9 10

EventID (Time)
Page 103

Entries 861 Entries 166
INumber of raw hits vs. EventID: Ladder 22 Sensor j I Raw Hit column vs. row: Ladder 22 Sensor 2 I
W ;
o
L b @
L - 1
107t
] 1072
'><103 Ml B BT R
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 146 Entries 861
IHit mean column vs. mean row: Ladder 22 Sensor fl humber of raw hits vs. EventID: Ladder 22 Sensor 2I
/U\) 'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
1 = 10 -
= - .
@© L -
S
\% - -
107"
1 -
1072
3
x10



Row

<rawhits>

Entries

153

I Raw Hit column vs. row: Ladder 22 Sensor 3 I

Column

107t

1072

Entries

861

humber of raw hits vs. EventID: Ladder 22 Sensor 3I

3 4 5 6 7 8 9 10
EventID (Time)

'X103

Entries 137
IHit mean column vs. mean row: Ladder 22 Sensor j
=
o
o 1
c
©
[}
=
107
1072
Mean Column
Entries 160
I Raw Hit column vs. row: Ladder 22 Sensor 4 I
% : I
50 !
aof =
[ L o
30 10
E —
20
: —
10f 1072
2 4 6 8 10 12
Column

Page 104



Mean Row

Row

Entries 141

IHit mean column vs. mean row: Ladder 22 Sensorj

60f
[ 1
50
40fF
¥ 107!
30
20F
[ -2
10 10
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 153
Raw Hit column vs. row: Ladder 22 Sensor 5
60
1
50
40
107
30
20
-2
10 10

2 4 6 8 10 12
Column

Entries 861

humber of raw hits vs. EventID: Ladder 22 Sensor 4I

A PITTITTIT[IrIT[TIT T[T TTIT[TITT[TITT[TTITTTIT
2 [
= L
% 5
v 5
1f
I
0 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 133
Hit mean column vs. mean row: Ladder 22 Sensor
S
@ 60
s
P 1
= 50
40
10™
30
20
-2
10 10

2 4 6 8 10 12

Mean Column
Page 105



<rawhits>

Mean Row

By
o

60

50

40

30

20

10

[ey—————

humber of raw hits vs. EventID: Ladder 22 Sensor 5I

2 3 4 5 6 7 8

Entries 861

><103
9 10

EventID (Time)

IHit mean column vs. mean row: Ladder 22 Sensor EI

10

Entries

107t

1072

12

Mean Column

107

Row

<rawhits>

60

50

40

30

20

10

10

Entries

129

I Raw Hit column vs. row: Ladder 22 Sensor 6 I

107t

1072

]
2 4 6 8 10 12

Column

Entries

861

humber of raw hits vs. EventID: Ladder 22 Sensor 6I

e )

3 4 5 6 7 8

9 10
EventID (Time)

Page 106



Entries
I Raw Hit column vs. row: Ladder 23 Sensor 1I
=
)
@
1
107!
1072
PR DI T S S A T TN N R R RN R
2 4 6 8 10 12
Column
Entries
INumber of raw hits vs. EventID: Ladder 23 Sensor j
[TTTT T I Er T[T T[TOTT[ IO I [ TIIT[TITI[TII T[T I ]
& 10F =
= [ ]
g [ 2
V - -
1F -]
x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)

174

861

Mean Row

Row

60

50

40

30

20

10

Entries 145
IHit mean column vs. mean row: Ladder 23 Sensor j
1
107!
107
P e I e o i N I BT i BT e Y
2 4 6 8 10 12
Mean Column
Entries 173
I Raw Hit column vs. row: Ladder 23 Sensor 2 I
L 1
[ 107t
& 1072

MR L P . L P T

Ll
2

Page 107

4 6 8 10 12
Column



Mean Row

Row

Entries 152

IHit mean column vs. mean row: Ladder 23 Sensor ﬂ

60f
[ 1
50_—
40fF
X 107*
30_—
20F
[ -2
10 10
:.|...|...|._|...|...|.
2 4 6 8 10 12
Mean Column
| |
Raw Hit column vs. row: Ladder 23 Sensor 3
60 Il
50 ]
40
— 10—1
30 ]
20 )
1072

2 4 6 8 10 12
Column

Entries 861
bumber of raw hits vs. EventID: Ladder 23 Sensor 2I
A Il b Rkl R RS R AL LELL) RLLLY LLLLI
2
< 10F
s F
\V; 3
1p
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 167

IHit mean column vs. mean row: Ladder 23 Sensor j

|

Mean Row
I H

[

Mean Column

Page 108




<rawhits>

Mean Row

10

60

50

40

30

20

10

humber of raw hits vs. EventID: Ladder 23 Sensor 3I

Entries 861 Entries 182

I Raw Hit column vs. row: Ladder 23 Sensor 4 I

=
o
@
- 1
’ 107
’ 1072
Ix10° PR Lrp i [ PRI EPEPEPEE BPEPE
2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 157 Entries 861
IHit mean column vs. mean row: Ladder 23 Sensor :I humber of raw hits vs. EventID: Ladder 23 Sensor 4I
== e RARAS M) A LA RARS MAAa) M LA Mk
é 10: .
= - .
1 = [ ]
V o -
107"
1r -
107 ]
Ix10°

4 6 8 10 12
Mean Column

0 1.2 3 4 5 6 7 8 9 10

EventID (Time)
Page 109



Row

<rawhits>

Entries

159

I Raw Hit column vs. row: Ladder 23 Sensor 5 I

2 4 6 8 10 12
Column

107t

1072

Entries

861

humber of raw hits vs. EventID: Ladder 23 Sensor SI

I x10°

0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

Mean Row

Entries 139

IHit mean column vs. mean row: Ladder 23 Sensor j

2

Row

Page 110

4 6 8 10 12

Mean Column

107

Entries 134

I Raw Hit column vs. row: Ladder 23 Sensor 6 I

Column




Mean Row

Row

Entries

119

IHit mean column vs. mean row: Ladder 23 Sensor i

1071
1072
" I P P P .. . PP
2 4 6 8 10 12
Mean Column
Entries 179

I Raw Hit column vs. row: Ladder 24 Sensor 1I

Column

Entries 861

bumber of raw hits vs. EventID: Ladder 23 Sensor GI

A Aol R bl R AL R LA LELL) RLLLY LLLL

ﬂ B -

= - i
\Y

1 7

x10°
o 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 148
IHit mean column vs. mean row: Ladder 24 Sensor j

=
o
@
c
[3M]
[}
=

2 4 6 8 10 12
Mean Column

Page 111



<rawhits>

Mean Row

10

60

50

40

30

20

10

Entries 861

INumber of raw hits vs. EventID: Ladder 24 Sensor j

Entries 171

I Raw Hit column vs. row: Ladder 24 Sensor 2 I

6

8

10 12
Column

107t

1072

Entries 861

2 I
- x 60f
] s0F
40fF
30F
20F
10
L1
5 6 7 8 9 10 2
EventID (Time)
Entries 142
IHit mean column vs. mean row: Ladder 24 Sensor fl
N
2
lg 10F
I 3
1 g f
v; L
| 3
— 1071
1h
|
1072
8 10 12 0O 1 2

Mean Column
Page 112

4

5

6

humber of raw hits vs. EventID: Ladder 24 Sensor 2I

e )

><103

7 8 9 10

EventID (Time)



Row

<rawhits>

Entries 152 Entries 131

I Raw Hit column vs. row: Ladder 24 Sensor 3 I IHit mean column vs. mean row: Ladder 24 Sensor j

L
(=Y
Mean Row

107t 107t

1072 1072

| |
Ml PP B B I I M PP B P I R
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column
Entries 861 Entries 200
humber of raw hits vs. EventID: Ladder 24 Sensor 3I I Raw Hit column vs. row: Ladder 24 Sensor 4 I
2 I
x 60 .
[ 1
[ e
40F —
- .
E — _—_ — 10_1
X ||
20:_ —
- — 1072
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Page 113



Mean Row

Row

Entries

168

IHit mean column vs. mean row: Ladder 24 Sensorj

60f
[ 1
50
40F
¥ 107!
30
20F
: | | 10_2
10__ — —
:.I...I...I...I...I...I.
2 4 6 8 10 12
Mean Column
Entries 193
I Raw Hit column vs. row: Ladder 24 Sensor 5 I
60
1
50
40
107
30
20
-2
10 10
2 4 6 8 10 12
Column

Entries 861
humber of raw hits vs. EventID: Ladder 24 Sensor 4I
N TFFFrFFFFrFFI'FrFI'FFrFI‘FFrI‘FI‘FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
2
g 10F -
© [ ]
V; 5 -
1 r
Jx10°
O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
Entries 165
IHit mean column vs. mean row: Ladder 24 Sensoril
g ——
@ 60
s
P 1
= 50
40
10™
30
20
-2
10 10

10 12

Mean Column
Page 114



<rawhits>

Mean Row

Entries 142
humber of raw hits vs. EventID: Ladder 24 Sensor 5I I Raw Hit column vs. row: Ladder 24 Sensor 6 I
b il Rl Wl Rl R Rk Rk bk =
o
@
10 = 1
=1 - 10_1
1= =
i 1072
b —
—
Ix10° Ml PP PRI EPEPEPEN e Lo S
o 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column
Entries 123 Entries 861
Hit mean column vs. mean row: Ladder 24 Sensor humber of raw hits vs. EventID: Ladder 24 Sensor 6I
N 'FI'I'FrFI'FFrI'FI'FrFI'FFrFI'FFrI'FI'FrFI‘FFrFI‘FFrI‘FI‘FrFI‘FF
2
60 < 10F -
1§ f E
50 Vo -
40 | i
107"
30 1 -
20 ]
1072 ’
10
L | Ll Jdx10®
2 4 6 8 10 12 1 2 3 4 5 6 7 8 9 10

Mean Column

EventID (Time)
Page 115



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115


